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Egyptian Area & Perimeter -  Big Group
Using the measurements given on the plan below – calculate the area of the tomb. 
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Using the measurements given on the plan below – calculate the total PERIMETER of the tomb.

 
          





Egyptian Area & Perimeter – Small Group

Using the measurements given on the plan below – calculate the area of the tomb. 
       







Using the measurements given on the plan below – calculate the total PERIMETER of the tomb.
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Show your calculation as a sum!!


Area of A = L x B = 





Remember to use    m²
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1. The Pharaoh wants to put up a wooden strip around the walls of his tomb.  If 1m of wood costs £8, how much will it cost to buy the wooden strips needed for this job? 





2. How much change will the Pharaoh get if he pays with £400.00





3. The Pharaoh employs a slave to do the job.  It takes him 7 hours.  The Pharaoh pays him £3.40 per hour.  How much does the slave get paid in total?





4. Show the notes/coins the Pharaoh would give to the slave.
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1. The Pharaoh wants to put up a wooden strip around the walls of his tomb.  If 1m of wood costs £2, how much will it cost to buy the wooden strips needed for this job? 





2. How much change will the Pharaoh get if he pays with £200.00?





3. The Pharaoh employs a slave to do the job.  It takes him 7 hours.  The Pharaoh pays him £2.00 per hour.  How much does the slave get paid in total?





4. Show the notes/coins the Pharaoh would give to the slave.
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Show your calculation as a sum!!


Area of A = L x B = 





Remember to use    m²
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